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QUESTION 1

(single) Which of the following does not belong to the communication network category?
A. Telephone network

B. Internet network

C. Radio and television network

D. State Grid

Correct Answer: D

QUESTION 2

(single) In the H.248 protocol, how to apply for gateway registration?
A. MOD_REQ is sent by the MG to the MGC

B. MOD_REQ is sent by the MGC to the MG

C. SVC_CHG_REQ is sent by the MG to the MGC

D. SVC_CHG_REQ is sent by the MGC to the MG

Correct Answer: C

QUESTION 3

What are the characteristics of (multiple) ATM cells?
A. ATM cell is a fixed length of 53 bytes

B. Divided into letterhead and payload

C. The header is 5 bytes.

D. The payload is 48 bytes.

Correct Answer: ABCD

QUESTION 4

(single) Monitoring of environmental quantity refers to monitoring of environmental factors that may cause equipment
damage, failure, and the like. Which of the following is not an object of environmental monitoring?

A. Temperature



B. Humidity
C. Flooding
D. Board status

Correct Answer: D

QUESTION 5

(single) Is the following description correct? The larger the return loss, the better. In general, the return loss of APC is
greater than that of PC type connector.

A. True
B. False

Correct Answer: A

QUESTION 6

(single) MA5600 supports ADSL2+. Which of the following is incorrect about ADSL2+?
A. The maximum downstream speed is 24Mbit/s

B. The maximum reachable distance is 6.5km

C. Use high frequency band, subchannel (32-511) and subchannels above 512.

D. Spectrum bandwidth is 1.104MHz

Correct Answer: D

QUESTION 7

(single) Is the following description correct? The traffic-table on the OLT can not only set the parameters of the traffic
rate limit, but also support the setting of the priority policy.

A. True
B. False

Correct Answer: A

QUESTION 8
(single) Is the following description correct? The MA5680T supports traffic shaping for specific serviceports.

A. True



B. False

Correct Answer: B

QUESTION 9

(single) After installing the sybase patch, which of the following commands can display the version information of the
sybase patch that has been installed?

A. 1>select @ @version2>go
B. 1>select @ @patch2>go
C. 1>version_help2>go

D. 1>ver_help2>go

Correct Answer: A

QUESTION 10

(single) Is the following description correct? The MA5600 uses the service-port command to create an xDSL service
flow. The service flow is classified into single service and multiple services. If you select single-service or do not enter
multi-service, the default is single service.

A. True

B. False

Correct Answer: A

QUESTION 11

(single) What is the maximum number of ADSL2+ users in the MA5600 single frame?
A. 216

B. 448

C.512

D. 896

Correct Answer: D

QUESTION 12

(single) Which of the following is incorrect for the expression of ONT tcont?



A. An ONU/ONT can contain multiple T-CONTs

B. tcont 1 generally carries OMCI channels

C. The upstream bandwidth is divided based on T-CONT, and different services use different T-CONTSs.
D. GEM port is used as a service channel. A GEM port can carry one or more services in the flow.

Correct Answer: B
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